INTERMEDIATE EXAMINATION — 2023 (ANNUAL)

Model Set
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Instructions for the candidates :-

1.

wRiendi OMR ITR—UF® WR AU U YRABI HI HHAIB (10 ADBI BI)
araey ford |

Candidates must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTTef ALY 37U TRl H B IR G |

Candidates are required to give answers in their own words as far

as practicable.

S IR BRR R Y 8 ofd gunie ffdse &_d 2 |

Figures in the right hand margin indicate full marks.

gel ®I LIFYdD U & ford wWieniial &1 15 e &1 afaRed a&a
o= T B |

15 minutes of extra time has been allotted for the candidates to
read the question paper carefully.
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This question booklet is divided into two sections : Section-A and
Section-B.

Gus—3 H 100 IS U ©, FH A Bl 50 UeAl &1 IR <Al
AFErd 21 50 Ul ¥ AP P IR I W UAH 50 BT & HATDHA
BT U & o 1 3 feiRa €1 a1 SR < & forg Sueter

PR MU SR T36 H QU MU F81 fddwed &l Al / $iel dfcd U9 |

TE N | sl Wl PR & gReR / oRd Ui / @€ / gd e

B OMR SR U3 H YIRT HRAT AT B, 3T TNiel vy 31|
BT |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered, then only the first 50 will be evaluated. Each
question carries 1 mark. For answering these darken the circle
with blue / black ball pen against the correct option on the OMR
Answer Sheet provided to you. Do not use Whitener / liquid / blade
/ nail etc on OMR Answer Sheet, otherwise the result will be

invalid.

Yue—q H 30 g STRIY U & | ISP B fog 2 of feiRa g, foreH

3 fhel 15 AT BT SR o1 A B | g9 IfaRdd o0 @Wvs § 8
&e I g AU U 2| ud U @ oy 5 o FEiRa € fH A

=2l 4 ygal &1 SR <7 Ifard 2 |



In Section-B, there are 30 short answer type questions. Each
carries 2 marks, out of which any 15 questions are to be
answered. Apart from this there are 8 Long answer type questions
in this section. Each question carries 5 marks, out of which any 4

questions are to be answered.

8. Pl TR & Selaei=d ISR & JIANT Yoiadr afoid ¢ |

Use of any type of electronic appliance is strictly prohibited.

Yug—3f / Section-A

gxdf~Iss 931/ Objective Type Questions

3 &I 1 ¥ 100 P & UAd U & fov aR fawew fag 71y €, R 9 @18
THh FE B U §RT g Y A& fded 1 OMR-SR gRasr R fafed o |
100 Y% § A fdh=l 50 Ul & B IR A o | (50x1=50)

Question No.- 1 to 100 have four options, out of which only one is correct.

You have to mark your selected option, on the OMR Sheet. Out of 100

questions any 50 questions are to be answered. (50x1=50)
1. 1967 TP WRA # & TSR B il Fa=err off ?

(A) T ST el (B) 3T Tl el

(C) gg—<cila gawen (D) Uhet—31feILITell Gel egael

What type of party system was there in India till 1967 ?
(A) One party system (B) Two party system

(C) Multi-party system (D) Single dominant party system



TRA TR HIUF & gRT b YbR & FHIOIdIE BT IR AT 2

(A) AT BT AN FATSTAR

(B) fsIieH &1 dArpdi=d FHTSIdIG

(C) T @1 wate

(D) << &1 |A=IdTg

Which type of socialism was adopted by the Indian National Congress?
(A) Scientific Socialism of Marx

(B) Democratic Socialism of Britain

(C) Gandhi’'s Sarvodaya

(D) Lenin’s Communism

IRA & el I d SRS Uil D T § A BT FAULH JTAR B

e 2

(A) 1952 & UBel 19 ® dIQ (B) 1957 & TN A & 91K

(C) 1962 @ RN gATG & 91 (D) 1967 & @Il YA & I

When did the communist party get the first opportunity to come to
power in any state of India ?

(A) After the first election of 1952

(B) After the second election of 1957

(C) After the third election of 1962

(D) After the fourth election of 1967



RA & Yorq IR BIUAT JeEl B o ?

(A) et faery qroroRyy (B) ARG <¥TS

(C) Tao S0 aieT (D) =0 =xoT R
Who was the first non-Congress Prime-Minister of India ?
(A) Atal Bihari Vajpayee (B) Morarji Desai

(C) H. D. Deve Gowda (D) Ch. Charan Singh
fferRad # & fod amdell urdt o ®ife § <@ o waar g 2

(A) IR ST aTet (B) ST Urct

(C) YR HrgfRe uret (D) FHTSIaTE! UTet

Which of the following can be palced in the category of leftist party?
(A) Bhartiya Janta Party (B) Janta Party

(C) Bhartiya Communist Party (D) Samajwadi Party

Afde |91 § Ured GAfT & seder diF g T o ?

(A) Sfo o= YA (B) AT 31T

(C) §to TH0 3@ (D) Sfo eI

Who was elected as the Chairman of the Drafting Committee in the
Constituent Assembly ?

(A) Dr. Rajendra Prasad (B) Maulana Azad

(C) B.N. Rao (D) Dr. Ambedkar

R ANTRGT Bl fhae Hifold sfEdR ure § 2

(A)7 (B)S



10.

(C)6 (D)8

How many Fundamental Rights do Indian citizens have ?
(A)7 (B) 5

(C)6 (D) 8

YRR AT Bl 9ol w9 9§ b & o= Tar o ?

(A) 15 3T, 1947 (B) 16 31T 1948

(C) 26 SRl 1950 (D) 26 STFTa’T 1947
The Indian Consitution was fully adopted on which day ?
(A) 15" August, 1947 (B) 16™ August 1948
(C) 26™ January 1950 (D) 26" January 1947
Hfde™ & fbd 91T &1 SHe | foram T ' ?

(A) Tl 3TEBR (B) #iferd @cien

(C) =g & Nifd fqerd a@ (D) IreURT & FhchIeld IMEHR
Which part of the constitution has been taken from Germany ?
(A) Fundamental Rights

(B) Fundamental Duties

(C) Directive Principles of state policy

(D) Emergency powers of the president

HAfaee & &g 9anT | Hiferd AfOBRI &7 9o 2 2

(A) U2¥ AT H (B) I 9T |

(C) aged Wt (D) ST & I T



11.

12.

13.

Fundamental Rights are mentioned in which part of the constitution ?
(A) In part-I (B) In part — 111

(C) In part— IV (D) None of these

YRA H Uebel ANTRET &I AR fbq qer 9 forar a7 ?

(A) fsic (B) 3ARaT

(C) g (D) wi|

The idea of single citizenship in India is adopted from which country ?
(A) Britain (B) America

(C) China (D) France

IRA ¥ fhae o9 # fgaeTTcoAd FaReiuaT g ?

(A) 7 (B) 8

(C) 6 (D) 9

How many states have bicameral legislature in India ?

(A) 7 (B) 8

(C)6 (D)9

Frfeaa § & 69 IoFifde Uicl &1 I9d sf0sdl WIRe oW 37l

H gar ?
(A) 519 S1freR Trct G EL
(C)=&n (D) 577 & &4

Which of the following political party has emerged from ‘India against

corruption’ movement ?



14.

15.

16.

(A) Jan Aadhikar Party (B) AAP
(C) HAM (D) All of these
YRA H Ugell AT IsguTel i off ?

(A) TR A1, (B) T+ s™ie

(C) g Ul (D) fasraeredt ufsd

Who was the first female governor in India ?

(A) Sarojini Naidu (B) Annie Besant

(C) Sucheta Kripalani (D) Vijayalakshmi Pandit
b a2 &1 G favg &1 waq g1 Afderd 2 ?

(A) MR (B) &

(C) e (D) w=a

The constitution of which country is the largest constitution in this

world?
(A) America (B) Russia
(C) France (D) India

A IS He HERAT D1 Ugell Afgell el DI off ?

(A) ITTHART 37T DR (B) FERT yferoiaer

(C) Tt 9w (D) fasraeet dfea

Who was the first female president of the United Nations General
Assembly ?

(A) Raj Kumari Amrit Kaur (B) Queen Elizabeth



17.

18.

19.

(C) Annie Besant (D) Vijayalakshmi Pandit

RAT HfJET & D19 AT 91T FAEH BT 31 & B9 § S Il 8 2

(A) TrcTaT (B) wiifers aifdaR

(C) =g & Nifd fcersd a@ (D) 31 & PIg =l

Which part of the Inidan constitution is known as the soul of the
constitution ?

(A) Preamble (B) Fundamental Rights

(C) Directive Principles of state policy (D) None of these

b gl 7 Hee AT B RYBIRE BT o] fdhar or?

(A) TR (B) o o Rig

(SASIERIE] (D) Ho § RRw=T W@

Which Prime minister implemented the recommendation of ‘Mandal
Commission’ ?

(A) Chandra Shekhar (B) V. P. Singh

(C) Rajiv Gandhi (D) P. V. Narsimha Rao

10391 AP FUET YST BT © 2

(A) AT BT RETIT

(B) fise T &1 3MReTT

(C) 3nffd w9 | HAGIR I I IMRETT

(D) 377 & BIg e

103" constitutional amendment provides ?



20.

21.

22.

(A) Reservation to women

(B) Reservation to Backward Classes

(C) Reservation to Economically Weaker Section.

(D) None of these

e & A1 = f6d deada I &7 97 e off ?
(A) TrERT (B) dterr

(C) df=ar (D) a1

Development with justice was the main aim of which five year plan ?

(A) Third (B) Fourth

(C) Fifth (D) Sixth

WAH IR @ YA Y YIHAT DI o ?

(A) &. 7. g2 (B) Sfo rIgax
(OEIEIEISISIS (D) ¥RER U

Who was the first Deputy Prime-minister of Independent India ?
(A) K. M. Munshi (B) Dr. Ambedkar

(C) Maulana Azad (D) Sardar Patel

P AT AU e TR R I W Gefed g ?
(A) 73 af e (B) 74 af GemeE
(C) 75 af \eeH (D) 76 af weMeA

Which amendment of the constitution is related to Urban local Self

Government ?
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23.

24.

25.

26.

(A) 73 Amendment (B) 74™ Amendment
(C) 75" Amendment (D) 76" Amendment
YRA ¥ Ugell TR FH ®e efud foar T o ?

(A) 1688 (B) 1757

(C) 1726 (D) 1820

When was the first Municipal Corporation established in India ?

(A) 1688 (B) 1757

(C) 1726 (D) 1820

5T T BT A9 B BT & 2

(A) T IR (B) Irzufer

(C) SwRrszafa (D) Tert wve

Who is the chairman of the Rajya Sabha ?

(A) Chief Justice (B) President

(C) Vice-President (D) Attorney General
=1 H 9 {5 A9 Bl HaISd B BT AEBR Ui 2 2
(A) F&1 =i (B) Ter Sre

(C) 9& fafe smyad (D) 379 9 PIg A8l
Who among the following has a right to address the parliament ?
(A) Chief Justice (B) Attorney General

(C) Chief Election Commission (D) None of these

3 geee 371 (A) T 50 9 |l © ?
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27.

28.

29.

(A) HERTE (B) Toid

(ORICES (D) o9 3R HTER
Article 371 (A) is related to which state ?

(A) Maharashtra (B) Gujarat

(C) Nagaland (D) Jammu & Kashmir

fhaaT T R fedl =g & fauE uRye &1 gare fhar i I&dar g ?

(A) faam |+ (B) rsure

(C) g (D) 375 & &g Tl

On which recommendation Legislative Council of a state can be
abolished ?

(A) Legilative Assembly (B) Governor

(C) Chief-Minister (D) None of these

g R TRgd a1 <1 Ao 8 dad —

(A) =T AT H (B) @ | H
(C) (A) R (B) &1 # (D) 5% | dIs e
Money Bill can be introduced only in :-

(A) Rajya Sabha (B) Lok Sabha

(B) (A) and (B) Both (D) None of these

fhg T & U G B ARAT BRA BT JABR 8 2
(A) G9g (B) rgufar

(C) 3™l S+ Rd (D) Satea =ImaTerd

12



30.

31.

32.

Which institution has the authority to interpret the constitution ?

(A) Parliament (B) President

(C) Attorney General (D) Supreme Court
TR ISt e

(A) Bvg T (B) Xrou T #

(C) et =gt A (D) 3774 & PIE e
Panchayati Raj is included in :

(A) Union list (B) State list

(C) Concurrent list (D) None of these

IR 9T o4 faere a1 fhae &A1 9@ Id |Fadl & ?

(A) 30 fe=T (B) 14 f&=

(C) 18 fa=1 (D) 45 fa=1

For how many days Rajya Sabha can delay the Money Bill ?
(A) 30 days (B) 14 days

(C) 18 days (D) 45 days

= & o9 W 9 IO @ IRIENHR & e &b fory fed &1 A

ot ?
(A) forreie wfafa (B) drexr AfAfey
(C) fa=ier MRar) wfdfa (D) 378 | BIg T2

Which of the following committee was constituted for the study of

criminalization of Politics.
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33.

34.

35.

(A) Lyngdoh Committee (B) Vohra Committee

(C) Dinesh Goswami Committee (D) None of these

g @ ol 3TeRl SaR AiRdl DIF SIRT &R Fehdl & ?
(A) §4g (B) xrgufa
(C) AT INT (D) 7= =amarefrer

Who can issue the model code of conduct for elections ?

(A) Parliament (B) President
(C) Election Commission (D) Chief Justice
YDl FERd B

(A) B8 (B) =amarery

(C) (A) 3R (B) & (D) 37 & BIE e

Zero Hour is related to :
(A) Parliament (B) Judiciary

(C) (A) and (B) Both (D) None of these

MY AFANESR RN B RJYAT 69 8 ?

(A) 1990 (B) 1993

(C) 1995 (D) 1998

When was the National Human Rights Commission established ?
(A) 1990 (B) 1993

(C) 1995 (D) 1998
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36.

37.

38.

39.

GERICH 7S] FaR] HT HIH AgaqUl WR i AT © ?
(A) forem aRReg (B) daraa affy
(C) I = (D) S99 & |+

Which is the most important tier of the Panchayati Raj system ?

(A) Zila Parishad (B) Panchayat Samiti
(C) Gram Panchayat (D) All of these
fr=ferRaa # & fora o & darh I R T8 € ?
(A) wfoTgR (B) farirm

(C) 3rH (D) Ir&UTae UaST

Which of the following state does not have Panchayati Raj Institutions?
(A) Manipur (B) Mizoram

(C) Assam (D) Arunachal Pradesh

IRA ¥ 3ifH V—doic &g U fdbar 7y o ?

(A) 2015 (B) 2016

(C) 2014 (D) 2017

When was the last Rail Budget presented in India ?
(A) 2015 (B) 2016

(C) 2014 (D) 2017
RIS AASBR fSad A>T ST © -

(A) 10 fewmar (B) 08 Td

(C)o1 7 (D) 05

15



40.

41.

42.

International Human Rights Day is observed on :

(A) 10" December (B) 08 March

(C) 01 May (D) 05 June

9RA H AT AT BT TS+ Hd g3l o7 ?

(A) 1949 (B) 1950

(C) 1951 (D) 1952

When was the Election Commission Set up in India ?
(A) 1949 (B) 1950

(C) 1951 (D) 1952

RN URYE & 3RS AW BT PRI BT ©

(A) 1 a9 (B) 2 a9

(C)s ad (D) 4 ¥

The tenure of the Non-Permanent members of the Security Council is :
(A) 1 year (B) 2 years

(C) 3 years (D) 4 years

= & D 9gad I |Y B gl T8 7 2

(A) S0 €lo 30 (B) S&cl0 T=I0 310
(C) rfre® (D) Fi%e

Which of the following is not an agency of the United Nations
Organization ?

(A) WTO (B) WHO

16



43.

44.

45.

(C) UNICEF (D) UNESCO
HYFT ¢ FASTHAT BT 96 99 ¥ el IR Bl 8 2
(A)TH 99 # TP IR (B) T® 9§ # | 9

(C)3r oy § U& IR (D) T® 99 # IR R

How many times the General Assembly of the United Nations meets in

a year ?
(A) Once in a year (B) Twice in a year
(C) Once in two years (D) Four times in a year

=1 9 9 fe g A feme—aRug =81 7 ?

(A) STR Few (B) AR

(C) xrorRerrT (D) FfcH
Which of the following state does not have Legaslative Council ?
(A) Uttar Pradesh (B) Bihar

(C) Rajasthan (D) Karnataka
UEE [C—RUeT TRl dal galr T ?

(A) T3 feeel (B) Seirs

(C) gart (D) STerar
Where was the first Non-Aligned Summit held ?
(A) New Delhi (B) Belgrade

(C) Havana (D) Jakarta

17



46.

47.

48.

IRT P Fag § e g
(A) DacT ofid |41 (B) daet 1T 1

(C) <1 9T IR 5T FHT I (D) & 4T, Ig 4T 3R regafa
Parliament of India consist of :

(A) Only Lok-Sabha

(B) Only Rajya-Sabha

(C) Both Lok-Sabha and Rajya Sabha

(D) Lok Sabha, Rajya Sabha and President

e Gfdem Hened & g1 | 9 Jifoid died SirsT a1 ?

(A) 42™ (B) 44"

(C) 52™ (D) 73"

By which constitutional amendment, fundamental duties were added in

the constitution ?

(A) 42™ (B) 44"

(C) 52™ (D) 73
TTERT Dvs IMRIT TSI & g7 7

(A) 2017 (B) 2018

(C) 2019 (D) 2020
When did Laddakh became an Union Territory ?
(A) 2017 (B) 2018

(C) 2019 (D) 2020

18



49.

50.

51.

52.

Md—gg & SRM Afdd P o o= o ?

(A) 01 (B) 02

(C) 03 (D) 04

How many power centres were there during Cold-War ?

(A) 01 (B) 02

(C) 03 (D) 04

TR ey egaRe # fed aifdie wifdd ure & ?

(A) 5 BT (B) 54 BT

(C) UamrId &l (D) (A) 3R (B) Tl aRTeR 7 |

Which of the following has more powers in the Indian Federal System?
(A) Centre (B) States

(C) Panchayats (D) (A) and (B) both are equal

GReT gRue # fhae e §ew B § °?

(A) 10 (B) 14

(C) 15 (D) 17

How many non-permanent members are there in the Security Council?
(A) 10 (B) 14

(C) 15 (D) 17

T8 ¥ BIF U Yc—IRUET fale & Hafed el o ?

(A) gt (B) AR SRTHTT

(C) wrefet e (D) ifed &%

19



53.

54.

55.

Who among the following was not associated with Non-Aligned

Movement ?

(A) Sukarno (B) Yasar Arafat

(C) Marshal Tito (D) Pandit Nehru
JedTHROT BT AT 31 T & 7

(A) TSR (B) SrRISITenoT

(C) gdtavor (D) UaTeRT

What is the general meaning of globalization?

(A) Nationalisation (B) Internationalisation
(C) Polarisation (D) Unification

gford Yord e |IS @ RIMUAT $74 A b 59 H g8 ?
(A) ToIRTd (B) STR U™

(C) werT (D) 37T T

In which state ‘Dalit Panthers’ organisation was formed ?
(A) Gujarat (B) Uttar Pradesh

(C) Maharashtra (D) Andhra Pradesh
FHUE & AT b $ ©F 1 B A1 [ 2 2

(A) BTHRTS (B) frstfererar
(C) <t FBIgR A (D) TR
Who is known as Young Turk in Congress ?

(A) Kaamraj (B) Nijlingappa

20



56.

57.

58.

59.

(C) Lal Bhadur Shastri (D) Chandrashekhar

<10 TIMT U9Te J&oil (b &l & =dl o ?

(A) TRAR STee (B) R ArraTel e

(C) wrerforee arci (D) wac= urct

Dr. Shyama Prasad Mukherjee was the leader of which party ?
(A) Bhartiya Jan Sangh (B) Indian Communist Party

(C) Socialist party (D) Swatantra Party

1956 H HRA H AR & IS BT SR AT IR AT AT ?
(A) st (B) WiMMifeTes &1
(C) v (D) &

What was the basis of state reorganization in India in the year 1956 ?

(A) Language (B) Geographical area
(C) Caste (D) Religion
IRA H §of b dg wnfid e § ?

(A) 06 (B) 07
(C) o8 (D) o9
How many Union Territories are there in India ?
(A) 06 (B) 07

(C) o8 (D) 09

I y=FadTy AT S e o ?

(A) 1951 — 56 (B) 1952 — 57
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(C) 1947 — 52 (D) 1961 — 66
What was the period of third five year plan ?
(A) 1951 — 56 (B) 1952 — 57
(C) 1947 — 52 (D) 1961 — 66
60. HAUYH fHA I o1 AfRARN Bl d=Tgal H 50 Ufrerd amRefor faar ?
(A) fdeR (B) uf¥=™ &me
(C) werTS (D) afferrg
Which state provided the 50 percent reservation to women in
Panchayat for the first time ?
(A) Bihar (B) West Bengal

(C) Maharashtra (D) Tamilnadu

61. Tl A&l b 19T A HFafdd o ?
(A) STRES (B) wERTY;
(C) STR yawr (D) a1ty wa=
Telangana movement was related to which state ?
(A) Jharkhand (B) Maharashtra
(C) Uttar Pradesh (D) Andhra Pradesh
62. SIS ITerd ¥ fhda =aramefer gig € ?

(A) 12 (B) 14

(C) 15 (D) 18
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How many Judges are there in the International Court of Justice ?
(A) 12 (B) 14
(C) 15 (D) 18

63. SN gIAT W IR fhe =i | o ?

(A) T < (B) 3mbrat <@l

(C) TRrarg <=t (D) FRgfve <@t

Which countries are considered as the ‘Second World’ ?

(A) American Countries (B) African Countries

(C) Asian Countries (D) Communist Countries

64. M 7 & WINT BT ASTATST BT Sonl fdar 8 7
NEEil (B) 8¢,
(C) fe=1 (D) qiver
Which language has been given the status of official language by the
constitution ?
(A) English (B) Urdu

(C) Hindi (D) Bangla

65. Fa—IHIOT AT BT wiqfea b1 fobar ?

(A) HETeHT TR (B) fa=irar 9

(C) ST AR (D) IM AR arfgan
Who led the ‘Nav-Nirman movement’ ?

(A) Mahatma Gandhi (B) Vinoba Bhave

23



(C) Jayaprakash Narayan (D) Ram Manohar Lohia

66. YA T HY Pl AR Ud [dbr A (Sidhcle) oI IMUAT g5 7
(A) 1945 (B) 1950
(C) 1984 (D) 1977
When was the Uited Nations Trade and Development conference
(UNCTAD) established ?
(A) 1945 (B) 1950

(C) 1964 (D) 1977

67. A IAMANT & MEFeT & ®T H DI BRI HRaT o ?
(A) RTzafer (B) STt
(C) &I |41 & 3feged (D) weIT=THAT
Who did act as chairperson of the Planning Commission ?
(A) President (B) Vice-President
(C) Speaker of the Lok Sabha (D) Prime-minister

68. f=feiRad § ¥ &I A1 <feoT TRRITE 9T eF—FRuet I 718 © 7
(A) urfdeear= (B) AuTet
(C) wRa (D) sgem
Which of the following South Asian country is not a Secular state?
(A) Pakistan (B) Nepal

(C) India (D) Bhutan

24



69.

70.

71.

72.

FrfeRad & P19 AT Q¥ T8 BT TS T8l © 7

(A) = (B) et

(C) AreTeTa (D) et

Which of the following countries is not a member of SAARC ?
(A) China (B) India

(C) Maldives (D) Bhutan

W e’ & T ¥ R O ©
(A) SfvexT Tl CIRSIERIE]]
(C) @ 3fegel THHR YT (D) wETHT TR

Who is called as “Frontier Gandhi” ?

(A) Indira Gandhi (B) Rajeev Gandhi
(C) Khan Abdul Gaffar Khan (D) Mahatma Gandhi
®eg H S et foee ay a<r | e ?

(A) 1975 (B) 1978

(C) 1974 (D) 1977

In which year Janta Party came to power at the centre ?
(A) 1975 (B) 1978

(C) 1974 (D) 1977

YRA QU B A9 I BIFd—bld A U g1fad gg o ?
(A) FOER Td S (B) WERTS; UG AT

(C) TR Uae Ud ISl (D) UoTre 3R §Te

25



73.

74.

75.

Which provinces were affected by the partition of Indian Nation ?
(A) Bihar and Odisha (B) Maharashtra and Madras
(C) Uttar Pradesh and Orissa (D) Punjab and Bengal

T PeT “IRa fafderar § yadr &1 a9 8 ?

(A) AT (B) HeTcHT Tife

(C) STaTeR dTel 7% (D) 3T & B =l
Who said, “India is a country of unity in diversity” ?
(A) Mountbatten (B) Mahatma Gandhi

(C) Jawahar Lal Nehru (D) None of these

T Ugol food xrog | Irsgufay S T T ?

(A) 3T Qe (B) doTra

(C) ®Aic® (D) foeR

In which state was the President’s rule imposed for the first time ?
(A) Andhra Pradesh (B) Punjab

(C) Karnatka (D) Bihar

AYFT MY BT AT Bl faRerd g ?

(A) =g (B) = &

(C) fortar (D) et

Where is the headquarter of the United Nations Organisation situated?

(A) New York (B) The Hague
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(C) Geneva (D) Oslo

q& AT YA Pl BIhBI 9T BIdl & 7

(A)5 95 AT 65 ¥ HI AY Sl W U &I

(B) 6 a¥ AT 65 ¥ Wl MY T Sif I gge &

(C) 7 a¥ @ 3@l da

(D) 68 99 I Y Tb

What is the tenure of Chief Election Commissioner ?
(A) 5 years or 65 years of age, which ever is earlier.
(B) 6 years or till the age of 65 years which eve is earlier.
(C) Upto period of 7 years

(D) Upto the age of 68.

ST BT fquTeT fod oy # gar o ?

(A) 1967 (B) 1968

(C) 1969 (D) 1970

In which year was the congress split ?

(A) 1967 (B) 1968

(C) 1969 (D) 1970

IRA H -9 faRIE 9 Hafed oA & a1 ?

(A) 1967 (B) 1985

(C) 1990 (D) 1992
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79.

80.

81.

When was the law related to ‘Anti-Defection’ made in India ?
(A) 1967 (B) 1985

(C) 1990 (D) 1992

T ST e Bl A0 fhae &I off ?

(A) §10 3RO JFITH (B) BIeIRM™

(C) Ararach (D) M fdemsT uraT
Who founded the Scheduled Castes Association ?

(A) B. R. Ambedkar (B) Kanshiram

(C) Mayawati (D) Ram Vilas Paswan
o AR &7 7 37 7 ?

(A) B Had of—a (B) TR ufcrael ¥ g
(C) E=8TTaR TR (D) Soa T

What is meant by free trade ?

(A) Tax free tansactions

(B) Free from government restrictions

(C) Business as desired

(D) Above All

WIRA Pl URATY] TR T~ <2 & Al § da wniie foar w2
(A) 2006 (B) 2008

(C) 2009 (D) 2014
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82.

83.

84.

When was India included in the category of nuclear power country ?
(A) 2006 (B) 2008

(C) 2009 (D) 2014

TefTare] ARG’ &1 RO AT 38 9 5 T BT U 32 o ?
(A) FATSTETET Uret (B) Argarsy uret

(C) e urct (D) S uret

To establish a ‘Gandhian Socialism’ was the objective of which party ?
(A) Smajwadi Party (B) Communist Party

(C) Swatantra Party (D) Janta Party

1977 ¥ ARG SFAY &1 ey b urdh # garm ?

(A) ST a1t (B) wTSTardy et

(C) \rRmaral uret (D) w1 urct

Bhartiya Jansangha was merged with which party in 1977 ?
(A) Janta Party (B) Samajwadi Party

(C) Communist Party (D) Congress Party

Afder & JaR fUss 97 &1 ygar &7 437 MaR 7 4 9 1 8 ?

(A) Smifa (B) &+

(C) AT e et Rerfa (D) Swad &t

What is the main base of identification of the Backward Class as per

the constitution ?

(A) Caste
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85.

86.

87.

(B) Religion
(C) Social and Educational position

(D) All the above

I U ATdard] FIed g —

(A) sfrefet & (B) wfdsearT #
(C) Wt A (D) & ¥
ULFA is a terrorist organisation in :-

(A) Sri Lanka (B) Pakistan

(C) India (D) Russia

IRA H B8R Hifd & SHd diF o ?

(A) THO THO FTHIT (B) BRa

(C) go 3R0 <14 (D) o STo IeR
Who was the father of ‘Green-Revolution’ in India ?

(A) M. S. Swaminathan (B) Kurien
(C)U.R.Rao (D) B. G. Deshmukh
YR BT U GFI-RUET 157 | fhar 1 &

(A) 71 AR & g1 &

(B) 1976 #H 42ai \faem= Holee & gRT

(C) 1978 H 4477 Afqer= e & gRI

(D) 2002 ® 86dT Hfqe HeMEH & g

30



88.

89.

90.

India was declared a secular state by :

(A) By the original constitution

(B) By 42™ constitutional amendment in 1976

(C) By 44™ constitutional amendment in 1978

(D) By 86™ constitutional amendment in 2002

AR A I &1 W f6| 9 4 gs off ?
(A) ITR U< (B) gsiTd

(C) =Ramm (D) faer

In which state ‘Bharitya Kisan Union’ was formed ?
(A) Uttar Pradesh (B) Punjab

(C) Haryana (D) Bihar

ATST fORIET SfeTa ARA & A IS BT AT o ?
(A) 3T e (B) Tord

(C) fasr (D) STR U
‘Anti Arrack movement’ was the movement of which state of India ?
(A) Andhra Pradesh (B) Gujarat

(C) Bihar (D) Uttar Pradesh

1951 ¥ BIUF F AT BIdR AR HUAT o b ureh @l wmuar foar o ?
(A) SFTSTaTel T (B) frar HoTgy Ut uret
(C) fram Asigx Uret (D) o |rIfere Urdt
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91.

92.

93.

Which party was formed by Acharya Kriplani after seperating from
congress in 1951 ?

(A) Samajwadi Party (B) Kisan-Majdoor Praja Party
(C) Kisan-Majdoor Party (D) Praja Socialist Party
fFefeiRad # o9 U Haene G T8l 2 ?

(A) =N s (B) farr s

(C) W9 i HaT SMART (D) AT TN

Which of the following is not a constitutional body ?

(A) NITI Aayog

(B) Finance Commission

(C) Union Public Service Commission

(D) Election Commission

IR faeer T & v el & ey 4 i1 § 9§ 319 |98 2 °?

(A) T T S AT BT YO (B) AFASSER B &7 & U3

(C) Sufaerare &1 favie (D) Swja |+l

Which of the following is correct regarding the main objective of Indian
foreign policy ?

(A) Try to remove apartheid (B) Try to protect the Human Rights

(C) To oppose colonialism (D) All of the above

TR Ay FifT & 9 & w9 9 fod S=7 Sirar @ ?

(A) Ho STdTER <lel -g® (B) HaTeAT W1l
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94.

95.

96.

(C) Sfo o= T (D) ¥RER ucd

Who is known as the maker of India’s foreign policy ?
(A) Pt. Jawahar Lal Nehru (B) Mahatma Gandhi
(C) Dr. Rajendra Prasad (D) Sardar Patel
SR Uil fha Isg | Hag urct off ?

(A) Tord (B) S

(C) faer (D) #aTH

‘Justice Party’ was a party associated with which state ?
(A) Guijarat (B) Odisha

(C) Bihar (D) Madras

1974 & fI8R 2AQTeA &I 9 A9 | ST SIar g 2

(A) T 3Tt (B) BT 3fara

(C) #fgar argre (D) are! foRwedt sricred
‘Bihar Movement’ of 1974 is known by which name ?

(A) Kisan movement (B) Student movement

(C) Women movement (D) Anti-Arrack movement

afde g HSTH & HRAUD B o ?

(A) IFRETHT ARaR URAR (B) ¥l0 38

(C) Sraafer (D) s & ®1g &
Who was the founder of ‘Dravida Munetra Kazhagam’ ?

(A) Ramaswami Nayakar Periyar (B) C. Annadurai
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97.

98.

99.

(C) Jayalalitha (D) None of these

&Y AT B Hored®yd ¥l 1o BT T3 g3l ?

(A) TS (B) firsieH

(C) Sudad T (D) 379 ¥ @Is 8I?
Which state was formed as a result of regional imbalance ?
(A) Nagaland (B) Mizoram

(C) Both (A) and (B) (D) None of these

THET =TS URATSHT A gvTfdd 89 dTel 19T I H © °

(A) fSER, SR U<, dole (B) SR, RISTRI, #ed UQsl

(C) He1 UQl, ORI, HERTS (D) HERTSE, oI, faareer waer
Which are the states, affected by ‘Narmada-Valley Project’ ?
(A) Bihar, Uttar Pradesh, Punjab

(B) Gujarat, Rajasthan, Madhya Pradesh

(C) Madhya Pradesh, Gujarat, Maharashtra

(D) Maharashtra, Rajasthan, Himachal Pradesh

IRA ¥ 3 i Aifd &9 o] g8 ?

(A) 1984 (B) 1989

(C) 1991 (D) 1996

When was the ‘New Economic Policy’ implemented in India ?
(A) 1984 (B) 1989

(C) 1991 (D) 1996
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100. HScl TN & Jedel PbI o ?
(A) gfFi® Tt Hed (B) @0 dio R¥E
(C) €10 o #sa (D) fichrer HAR
Who was the Chairman of ‘Mandal Commission’ ?
(A) Dhanik Lal Mandal (B) V. P. Singh

(C) B. P. Mandal (D) Nitish Kumar
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Yvs—4q / Section-B

oY S8 9949 (Short Answer Type Questions)

U AT 1 W 30 oY SR Y 2| fBl 15 Ul & SR < | gAP U B forg

2 3 fuiRT € | srfdrdd 40—60 gl H SR < | (15x2=30)

Question no. 1 to 30 are short answer type. Answer any 15 questions. Each

question carries 2 marks. Answer in not more than 40-50 words. (15x2=30)

1. 99 g€ 9 Y 1 §Esd € °? 2
What do you mean by Cold war ?
2. UT-Fla T8 ? 2

What is ‘Question Hour’ ?

3. HFAr BT aR¢INa & | 2
Define equality.

4. NG I R®IT 7 2 2
What is Social Justice ?

5. Go—dad &I w1 37 g ? 2
What is the meaning of defection ?

6. Ul @ E ? 2

What is ‘Panchsheel’ ?

7. T WRER fHd Hed & ? 2

What is a ‘Coalition government’ ?

36



10.

11.

12.

13.

14.

15.

16.

17.

<JTf® gAfdetd &1 7§ 2

What is Judicial Review ?

&g T & ®Y H 7Al & oy R’ e ® ?

What are the conditions for recognition as a regional party ?
UTEROT FRET & fbel & SuAT Bl fored |

Write any two measures for protection of the environment ?
TR RIT & 2

What is an ordinance ?

R aeell & gR9TRT & |

Define Federal system ?

gHES ANTRGAT I 3T T AT & 7

What do you mean by single citizenship ?
OGS | 39 T FAS & ?

What do you understand by Republic ?

ARTRS T A MY Fa7 A & 2

What do you mean by civil liberties?

=q1iyep Afsbaar &1 fb=sl a1 faRamil &1 goi= & |
Describe any two features of judicial activism.
ARYETRGAT T & 7

What is communalism ?
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

¥qd wifd T 7 ?

What is ‘While Revolution’ ?
§a1 UIENhRoT T T ?

What is Habeas Corpus ?
ATl BT )T AW fordd |

Write full form of NATO ?
e JSIdd a1 7 7

What is ‘Direct Democracy’ ?

S Rifsde &1 ot gard ?

Explain the meaning of ‘Congress Syndicate’ ?

e =g w8 ?
What is Economic Justice ?
ferENeRT |7 7 ?

What is disarmament ?

MR & BT A I A © ? bl g &1 7 ford |

Which countries are members of ASEAN ? Write the name of any five.

dq srefegdeel W Y T FHsd & ?

What do you mean by ‘Closed Economy’ ?

THyd fawa w7 ?

What is an ‘Unipolar World’ ?
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28. IS 3TIHTI BT 312 FT 2 ? 2

What is meant by ‘Plan Holiday’ ?

29. s fovg gazem wT B ? 2

What is New World-order ?
30. JTATHROT § W) BT FIT IS § 2 2

What is the contribution of technology in Globalization ?

" 9a9F 937 (Long Answer Type Questions)

T AT 31 ¥ 38 WY ST YT 2| bl 4 U & SR S | UAH & folU 5
3 ufRa €1 120—140 oIl H SR T | (4x5=20)

Question no. 31 to 38 are long Answer type questions. Answer any 4

questions. Each question carries 5 marks.. Answer in 120-140 words.

(4x5=20)

31.  eEigdmEE W ooy e ford | 5
Write a short essay on ‘Regionalism’ ?

32.  WRAMG RASHIRT H S B HBT BT goid BN ? 5
Describe the role of caste in Indian Politics ?

33.  GRell URYg & BRI BT HeAldhT B ? 5
Evaluate the functions of the ‘Security Council’ ?

34,  UM-UA™A & BT I qUH B ? 5

Discuss the functions of ‘Gram Panchayat’ ?
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35.

36.

37.

38.

TN (ATh) & ST IR USRIl Br ford | 5
Write the objectives and achievements of SAARC ?
qFFAE’ R U fewof) ford |

Write a note on ‘Naxalism’ ?

TR & TSI 9 & A1 Fr=ell &l fad==m a ?

Discuss India’s relation with neighbouring countries ?

TR A= & Sl BT goi By 2

Describe the sources of the Indian Constitution ?
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